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1. 1. Read the passage and translate into Polish.

If the risks of using dangerous substances are not properly
managed, workers’ health can be harmed in a variety of ways, with
effects ranging from mild eye and skin irritations to asthma,
reproductive problems and birth defects, and cancer. This can be
through a single short exposure, or multiple exposures and long-
term accumulation of substances in the body.

2. Match the questions to the answers (Dopasuj pytanie do
odpowiedzi):
a) What is the main idea of the text?

b) What can you say about the risks of using the dangerous
substances?

1. The risk associated with the use of hazardous substances is very high.

2.From mild irritation to the eyes, and for asthma, problems associated
with fertility to birth defects and cancer.

2. 1. Read the passage and translate into Polish.

By law, employers in the EU must protect their workers from being
harmed by dangerous substances in the workplace. Employers must
carry out risk assessments, and act on them. Legislation also governs
the identification and labelling of the thousands of different substances
that are registered in the EU market.

2. Match the questions to the answers (Dopasuj pytanie do
odpowiedzi):



a) What is the main idea of the text?

b) What should employers do to protect their workers from being
harmed by the dangerous substances?

1. Employers must protect their employees from exposure to hazardous
substances such as carrying out a risk assessment .

2. Adequately describe and label dangerous substances and how to use

them.

3.

1. Read the passage and translate into Polish.

Every day, millions of employees in Europe are exposed to
noise at work and all the risks this can entail. While noise is
most obviously a problem in industries such as manufacturing
and construction, it can also be an issue in a wide range of other
working environments, from call centres to schools, orchestra
pits to bars.

2. Match the questions to the answers (Dopasuj pytanie do
odpowiedzi):

a) What is the main idea of the text?

b) What can you say about noise at work?

1. Noise is a nagging problem for the construction industry, telephony,
education. This is a serious issue that may entail health consequences.

2. The noise at work are exposed to a lot of groups.

4. Przeczytaj fragment i przettumaczyc¢ na jezyk angielski.

Dane krajowe i europejskie sugerujg, ze mtodzi pracownicy sg
bardziej narazeni na wypadki przy pracy. Niemniej jednak,
wskazniki wypadkow i przyczyny wypadkow réznig sie znacznie
miedzy réznymi sektorami i zawodoéw. Mtodzi pracownicy majg
nizsze ogolne wskazniki wypadkow smiertelnych, ale ceny
mogg by¢ wysokie w niektorych sektorach. Rolnictwo ma
najwiekszg czestotliwos¢ wystepowania, a nastepnie w



budownictwie, transporcie i komunikaciji i produkciji.

5. Przeczytaj fragment i przettumaczy¢ na jezyk angielski.
Badania wskazujg, ze chociaz starsi pracownicy majg mniej
wypadkow, ich urazy sg czesto bardziej dotkliwe a leczenie ich
trwa dtuzej. Poslizgniecia, potkniecia i upadki sg najczestszg
przyczyng wypadkow we wszystkich sektorach, od przemystu
ciezkiego do prac biurowych. Podczas gdy miodsi pracownicy
sg bardziej narazeni na uszkodzenie oka lub obrazenie dtoni
,gdyz starsi pracownicy zgtaszajg wiecej urazow kregostupa.

6. Przeczytaj fragment i przettumaczy¢ na jezyk angielski.

Starsi pracownicy mojg problemy ze wzrokiem , ustawieniem jej
wyraznosci, na pewna odlegtos¢, zmniejszenie widzenia peryferyjnego,
widzg rzeczy, mniej wyraznie, trudniej jest dostrzec gtebine lub sg
bardziej wrazliwe na olsnienie. Jest rowniez bardzo prawdopodobne, iz
nieodpowiednie warunki, ktore ostabiajg wzrok mogg doprowadzi¢ do
zacmy i choréb siatkowki. Te zmiany w zdolnosci widzenia mogg
zwiekszac ryzyko wypadkow. Falls moze by¢ spowodowane stabg
rownowaga, spowolniong reakcjg, zaburzeniem widzenia i brakiem
koncentracji.



